
Limitation description
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Interruption during of the ADC regular conversion – Normal behavior (F1, F3, F4…, G4 Rev Z):
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Injected channels (4)

Injected conversions trigger
(while regular is in progress)

Abort

JEOS← 1

Ch(J1)

NX … regular group conversion X
JX … injected group conversion X

Interruption during of the ADC regular conversion – incorrect behavior (G4 Rev Y)
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First injected group conversion is 
replaced by internal Channel 0 
(which is internally grounded).



Workaround 1 - Explanation
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Interruption during of the ADC regular conversion – Normal behavior:
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Ch(N2) Ch(N3) Ch(N4)Regular channels (4)

Injected channels (3)

Injected conversions trigger
(while regular is in progress)

Abort
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Ch(J1)

Workaround 1: Inserting dummy channel into injected group

Ch(N4)Ch(N1)
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Ch(N1) Ch(N2) Ch(N3)Regular channels (4)
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Insert into injected group one dummy 
conversion

(and then insert original channels)
Tigger has to be anticipated

(15 ADC cycles) to preserve original 
injected conversions timing.

Max. 3 ‘effective’ 
channels in the 
injected group

NX … regular group conversion X
JX … injected group conversion X



Workaround 2 - Explanation
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Interruption during of the ADC regular conversion – Normal behavior:

Workaround 2: Trigger regular conversion to avoid collision with injected conversion
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Injected channels (4)
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JEOS← 1 Start regular group conversions at the 
end of  injected group conversions (to 

avoid collisions).
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(while regular is in progress)

Abort

JEOS← 1

Ch(J1)

NX … regular group conversion X
JX … injected group conversion X
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